LTSS

JInHennHOE ypaBHEHUE
C OHUM HEHU3BECTHBHIM

JIMKTaHT

Anreopa 7 knacc



I AT TS

1.

IIppaymarte u 3armmninre
KaKOC=HMOYAb JTUHHECHHOE
YPAaBHCHUE C OJHUM
HEU3BECTHLIM X



I AT TS

Kak Ha3bIBAE€TCS YpaBHEHUE

-2 x =17



Ll

3.

[Ipu xakom YCJIOBI/II/I
ypaBHCHHE C X = & HMeeT
CITMHCTBCHHBIN KOPCHD 2
3alUIIUTE 3TOT KOPEHba



I AT TS

4.

Pemmmte ypaBHenne 0,2 x =

-1



S5.

K 00enM yacTsaM ypaBHEHHUS
NpUOaBUIIM YHCIIO =3.
KakuMu SBIISIOTCS
OJIY4YCHHOE M MCXOJHOE
ypPaBHCHHS 2

Ll
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Pemure ypaBHEHHE

2x+*1 =3 x-x



I AT TS

Pemure ypaBHEHHE

5-x=2x+2



